EARAROBEEIERT — 2 N— IBISH —F

20135F5A318 (&) SEIEME3A

M 3mC1 C1 ¥5%3K% ‘ [%2] % ‘ [(ErmE] — | 4 (5 14000 &
[AE4] 1% :3850,000" ~ 23#%:70,00M ~ 3#&:3500M™ ~ 4#&:21,000M 5 7#&:14,000 A
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i 43 | WA 1:31.4 6-6-5-4 |39.6| — 4 433 | RFIRR (ER)
118110 FAIT—FX 54.0 (=) (-2) (#%) NNHRTHEE
RTHAFRIF— BAYIFFIN MBS
. # 3 | BEEF 1:31.5 4-4-32 |40.0| — | 1 | 512 [FERE (HE)
2|81 71~ E—A~ 5.0 (7E) o | BEET
L h—->r B:h—by—> AXETa—T7—L4L
3 6l1yFOr # 3 | NEEF 1:(311>.7 3-3-1-1 | 40.5| — 3 | 455 EE?— (Em®)
LTyIT-L BiLATELS O l1s B
N BEET : -1-2- - EmBa (T
al1l1|5vESTN— 3 | BE 1.(332).2 1-1-2-2 | 41.0 2 (4_426) Fiine
RiBALISS Ry IR B LT — R4S
. — AL :32. ~7-6- 2| - ELEFIRR (Em)
sl7lg| 72077 —4=— R [ S B s el -
Lixfavyayy B:ANAY—VU—2 =R %S
- . EREE :32. -5-8- 7| - mARS (EH)
6l5l5|mT1F1R2H it 3 e 1(332)8 5-5-8-8 | 40.7 7 (4_216) s
L:7RvqvaV—> B:RIHFIN—IL L0 G
- HABIR : —8-7- _ WzFnz (Em)
F—ZZARNSAH— # o3 | B 1(732t? 7-8-7-6 | 40.7 11 ;1_887) ez )
L:€r/0704 B:TX¥X2A)L NN E%54%
: St — : -10-9- - i
FxdATTF # 3 ss{ﬂgﬂ 1.(353).6 10-10-9-9 | 40.6 9 | 434 fﬁigﬁ (i)
RIFIN—E By hRZ— ) |\ x&m e
KILEE .33 —0—10—- . — Az (EH)
TYwys 43 Zu 1(733t>6 9-9-10-10 | 40.8 5 :1_380) e
O YIIIZA N B:4143E)A BEO%5
T XATIVAIN> #H 3 %{'&iﬁﬂl (,?i? 1-11-10-11{ 40.4 | — 9 435 fg%\g (EmH)
QT —F A FAF XYL BTAALYZR 48) | s
N N Hrhs : 94~ - Wmiss (k)
IHLF o i3 | Ee 1.(364>.s 2-2-4-5 | 43.4 6 <4+731> uoes
R:A-—T> U B:a4/R2UFRR "e =A
® I —F—@EBIERL
13—7F— |1,4,6,11,5,10,(2,8),9,3,7
23—+ — 1,4,6,11,5,10,8,2,9,3,7
da=3r= 6,1,11,4,10,8,2,5,3,(7,9)
40—+ — 6,(1,11),10,4,(2,8),5,3,9,7
[ N3
H OB 10 1,350 714K 10-11 320M 7 E 8-8 640M RPEL:] 6-10-11 1,600
8 B 10 280 6-10 780 B = 10-11 650/ K31 10-11-6 15,870M
1 1009 6-11 250 B H 10-11 3,510
6 1804

ABICOVWTRDTEEERROODE. TR LIV,




